



International Student Admission Requirements for Undergraduate Programs AY 2016/2017

Admission Details:

1. International Students are eligible to be admitted to the United Arab Emirates University (UAEU) and on a provisional basis to the following Colleges during the *AY* 2016/2017, in accordance with the criteria and conditions set forth by UAEU and subject to the enrollment limits established for the University and each College:

College of Humanities and Social Sciences, College of Science, College of Education, College of Business & Economics, College of Law, College of Food and Agriculture, College of Engineering and College of Information Technology,

Admission to UAEU is based on the student's academic preparation and performance levels, and the instructional capacities of academic programs. Applicants' eligibility for admission will be based on their Grade 12 Grade Point Average.

- 2. Students admitted to the University shall be assigned provisionally to the various Colleges, in accordance with the instructional capacity available in each College, preferences expressed by each student and the academic qualifications of the student. In the case of equal qualifications, preference shall be made based on student grade averages in the subjects qualifying for admission to the specific College.
- **3.** Students holding a National Grade 12 Certificate Literary/Arts Track, or its equivalent, may apply for admission to the following Colleges: Humanities & Social Sciences, Education, Business & Economics and Law.
- **4.** Students holding a National Grade 12 Certificate Scientific Track, or its equivalent may apply for admission to the following Colleges: Humanities & Social Sciences, Science, Education, Law, Business & Economics, Food & Agriculture, Engineering and Information Technology.
- **5.** All international applicants should apply online through the following link: Online Admissions Application.

Admissions Requirements

- 1. The following terms and conditions apply:
 - Applicants must hold a National Grade 12 Certificate or its equivalent obtained from a school in UAE, or its equivalent dated 2015/2016. (Current High School Graduate)
 - Applicants should have achieved scores of TOEFL 500/ iBT 61;Or IELTS 5.0
 - Applicants should pass the Arabic and Math foundation level exams
- **2.** Applicants applying to the College of Engineering must hold a Grade 12 Certificate with a grade average of 95% or higher plus an average of 85% or higher in Mathematics and 85% in either Physics or Chemistry.
- **3.** Below please find the minimum average required for each college:

College	Minimum Average Required		
Humanities & Social Sciences	85%		
Science	85%		
Education	85%		
Business & Economics	90%		
Law	85%		
Food & Agriculture	85%		
Engineering	95%		
Information Technology	95%		

Documents Required:

- 1. The original or certified copy of the applicants Grade 12 Certificate obtained from a school in UAE, or its equivalent.
- **2.** A copy of a valid passport for National and GCC Countries.
- **3.** A copy of a valid passport for other nationalities is required including a copy of a valid residency visa.
- **4.** A copy of the applicant's birth certificate or a certified copy of a birth certificate, or other certificate indicating the student's age.
- **5.** A copy of identity card.
- **6.** A copy of medical insurance card.
- **7.** A medical fitness certificate including blood test report.
- **8.** Four recent colored passport size photos.
- **9.** A written statement in which a student vows to abide by the University's bylaws, policies, and code of ethics.
- **10.** A non-refundable online application fee of AED 200.
- **11.** Evidence of English language proficiency certificate with a minimum of TOEFL IBT (61), TOEFL local (500) or IELTS (Academic 5.0).
- **12.** An equivalency letter for Grade 12 high school certificate from the Ministry of Education (for schools that do not follow the Government curriculum).

Tuition Fees:

College	Minimum Gradation Required Hours	Fees / Hours	Minimum Registered Hours	Tuition per Semester	Total Tuition Fees
Humanities & Social Sciences	120	2400	12	28,800	288,000
Science	120	3000	12	36,000	360,000
Education	126	2400	12	28,800	302,400
Business & Economics	120	2800	12	33,600	336,000
Law	136	2400	12	28,800	326,400
Food & Agriculture	120	3000	12	36,000	360,000
Engineering	147	3000	12	36,000	441,000
Information Technology	130	3000	12	36,000	390,000

Tuition Fees Payment:

50% of the tuition fees are due at the beginning of first week in each academic semester and must be paid directly to the University's Student Accounts Office. The remaining 50% of tuition fees are due at the end of the fourth week in each academic semester.